>

INSTALLATION INSTRUCTIONS

METALLIC
PRODUCTS

Work that Flows

METAL PANEL APPLICATIONS

Note: Additional support columns and pipe hangers may be required for larger
canopies and/or higher wind loads.

STEP I: Install Vertical Support Columns

Note: Install vertical support columns to girt framing. (Girt spacing max 6'0")
l.a—Center canopy over door. If necessary, shift canopy toward door
knob so that pipe hangers penetrate in the high or low areas of panel.
When the canopy is positioned at the desired location match drill 11/16"
holes through pre-drilled canopy angle holes. (These holes are aligned with
the center of the zee rafter holes used for the pipe hangers at the wall
attachment angle of the canopy.)

I.b—Align centerline of support columns with [1/16" holes drilled in

step l.a centerline of zee rafters on canopy between girts. Make sure
support columns are perpendicular to top and bottom girt. Attach
mounting clips to each end of telescoping support columns with

(4) #12 SDS per clip. Slide adjust columns to proper length in order to fit
between girts (6' maximum). Secure columns to girts with (4) #12 SDS
per clip. Install (2) #12 SDS in the web and (1) in each flange at top and
bottom of overlap in channels.

STEP 2: Install Lower Support Bolts
2.a—Match drill through previously drilled holes in wall panel through
centerline of support columns.

2.b-With canopy repositioned and matching holes in canopy and wall
panel aligned, attach canopy to wall panel and support column using
5/8" x 7" bolt with washer. (If hole penetrates the high rib of the panel,
use PVC spacer between wall panel and support column.) Note: Before
tightening bolts, apply sealant at penetration points.

STEP 3: Attach Pipe Hangers to Canopy
3.a-Thread 5/8" nut on the short rod end, slide on 5/8" washer and insert
into hole on top of canopy rafter. Secure with 5/8" nuts and washers on
underside of rafter. (Typical for each pipe hanger.)

STEP 4: Attach Pipe Hangers to Wall
4.a-Locate the elevation at the point where long rod end will penetrate
the wall. Drill 11/16" hole through panel and support columns. Thread 5/8"
nut on long rod end and slide on 5/8" washer. Insert long rod through wall
panel and support columns. Secure at support column with 5/8" nuts and
washers. Note: Before tightening bolts, apply sealant at penetration points.

STEP 5: Adjust Pitch of Canopy
5.a-Adjust pipe hanger yoke ends, and/or short rod end at rafter, so the
canopy slopes back toward wall /2" to |I" (for rear mounted drains).

HANGER PENETRATION DIMENSIONS

Wall

Approximate dimensions from
bottom of canopy to upper pipe
hanger penetration

Pipe Hanger

\

E / l__jiw i

\ Lower bolt connection

dimension from bottom
Canopy of canopy

3 projection 24"~ 26"
4 projection 31"-33"
5 projection 38" 40"

Field Verify

» CANOPY

SUPPORT COLUMNS INSTALL

DRILL 11/16" HOLE FOR
/HANGER ‘CONNECTION

GIRT SPACING 6' MAX.

MOUNTING CLIP DRILL 11/16" HOLE FOR
RRAINESHS sos /7 LOWER B0LT CONNECTION
gy

BUILDING GRT

METAL WALL INSTALL

5/8" NUT AND

CANOPY BRACE

ADJUSTMENT
(DOUBLE NUT)

5/8" X 31/2"
ROD END

_~ NUT AND WASHER

PVC SPAGER e
(TOP AND BOTTOM) H
(AS NEEDED)

FLAT WASHER OR DECORATIVE PLATE

BUILDING GIRT

i

(4) 12 sDS
IN EACH LEG

NUT AND WASHER

o

ROD END 5/8" X 10"

Y/

=

(4) ;12 sDS
(2) N weB,
(1) IN EA FLANGE]
HEX-HEAD
BOLT 5/8" X 7

/ 20"(MIN)
H
( P K

TELESCOPING CEE

BUILDING GIRTS @ 6'-0" 0.C. (MAX)

CUTIER ON AL (4)
SIDES OF CANOP

T;T

WATE cTo
(STANDARD REAR SCUPPER DRAINS SHOWN)
SCUPPERS ARE 1/2°X 2" & LOCATED
3 FROM EACH END OF CANOPY

NUT AND WASHER
R FLOW DIRECTION
MOUNTING CLIP

/~—[T0P & BOTTOM]

1}31,,

(CANOPY PROJECTION)

L L(») #12 SDS N EA LEG

Metal Wall Install:

(One hardware kit per hanger)
(I Pipe Hanger

(1) 3-1/2" X 5/8" Rod End

(1) 10" X 5/8" Rod End

(1) 2pc Telescoping Channel
(2) 12ga Channel Clips

7777 Hollister Street | Houston, Texas 77040 | p 713.856.9696 | tf 800.356.7746 | f 713.856.9686 | mpvent.com

(24) #12 X 3/4" Screws
(1) 7" X '5/8" Hex Bolt
(5) 5/8" Nuts

(6) 5/8" Washers

(2) PVC Spacers

QUALITY GUARANTEE

EST. 1962
4, <
o,
Ak a0




> INSTALLATION INSTRUCTIONS
METALLIC

FRODUCTS > CANOPY

MASONRY APPLICATIONS

Note: Additional pipe hangers may be required for larger canopies and/or higher
wind loads.

STEP I: Install Lower Support Bolts s/6" T A
l.a—Center canopy over door. Mark well at locations where pre-attached

canopy rafter angle holes meet wall.

WALL ANCHOR SLEEVE
BY DTHERS

¥CMU MASDNARY

WALL/ CONCRETE WALL

I.b-Dirrill holes in masonry and install wall anchors sized to accept
5/8" bolts and appropriate design for masonry type. sowsment
Note: Wall anchors by others.

5/8" X 31/2"
ROD END

l.c—Insert 5/8" x 3" bolt with washer through canopy angle and into wall . HoCHED &

anchor. H/ﬂwj: [ g
| = e

STEP 2: Attach Pipe Hangers to Canopy GUTER oW Al (4 VATER FLoW DIRECTION
" 4 . SIDES OF CANOPY (STANDARD REAR_SCUPPER DRAINS SHOWN) SROUT ALLED GELL
2.a-Thread 5/8" nut on one end of the pipe hanger rod end, slide on R /s DS MOS0 e RECOMIENDED POk cu

5/8" washer and insert into hole on top of canopy rafter.

(CANOPY PROJECTION) 7

2.b—Secure with 5/8" nuts and washers on underside of rafter.

STEP 3: Attach Pipe Hangers to Wall

3.a-Locate elevation at the point where opposite rod end will penetrate
the wall. WALL REACTIONS

3.b-Drill holes in masonry and install wall anchors sized to accept 5/8"
bolts and appropriate design for masonry. Note: Wall anchors by others. 1.0K

3.c—Insert 5/8" x 3.5" thread rod end into wall anchor. 1.7K(TENSION)
3.d - Attach rod end to pipe hanger with clevis pin.

STEP 4: Adjust Pitch of Canopy
4.a-Adjust pipe hangar yoke ends, and/or short rod end at rafter, so the
canopy slopes back toward wall 1/2" to |" (for rear mounted drains).

1.0K
Masonry Wall Install: 1.7K(COMPRESSION)
(One hardware kit per hanger) (1) 3" X 5/8" Hex Bolt NOTE:
(1 Pie Hanger (458" Nurs Lo 50
(2) 3-1/2" X 5/8" Rod Ends (4) 5/8" Washers BTN WL ACT IN THE OPPOSITE

MULTIPLE CANOPY INSTALLATION

#14 STS SCREW-
\ 5 /TOP SPLICE

11N
ve PIPE HANGER o

¥ CANOPY #1 | canopy 2. 7

L2ty

Ll
_ \BOTTOM SPLICE
#14 STS SCREW.

T 4—7/8”[||
1 E
FASTENEI
EINERE

T\

CONTINUOUS
APPLICATION

v s OPTIONAL DOWNSPOUTS

QUALITY GUARANTEE

EST. 1962
4, <
o,
Ak a0

7777 Hollister Street | Houston, Texas 77040 | p 713.856.9696 | tf 800.356.7746 | f 713.856.9686 | mpvent.com




